SPRING ‘o — CALC I — MedTerm T (Solutidns)

Q1]. .. [13 points] Write down the Riemann sum for the function z? over the interval |1, 3] using 4 equal

width subintervals, and using right hand endpoints as evaluation points. You can leave your answer as a
string of numbers with plus signs between them.
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Write the following limit as a definite integral
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Compute the average value of the function f(z) = 22 on the interval [0, 4].
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Q2]...[12 points] State the fundamental theorem of calculus (both parts).
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Evaluate the following definite integral
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Evaluate the following derivative
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Q3]. .. [12 points] Determine the following indefinite integrals.
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Q4]. . .[13 points] In each case below, use the disk or washer method to write down an integral for the

volume of revolution of the given region about the given line. You do not have to evaluate the resulting
integrals.
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e The region R about the z-axis.
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e The region R about the y-axis.
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e The region R about the line z = 6.
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